WMER N 770-4 PSX-2

WER7 77 b RIFNEDRE

DKAH58

111111111

BARF7T—F LV 7#EHKE4H

:IGEREN

HIRETELY—IL

ICTERIhET

|

717 —
EH

|

M5X 16/ 2> 4 7
%?R{ M6X 1645/ %3 (D=10) 4 K
g6x3045M4 v E> %Y 1% (D=10) 4 &K
@ A—H—% ISR E
NEWxSTAR | P-82 P-182
RYOBI 82P.1820P
MIWA M802P, M802PS
@ A—P—%, TS
RYOBI 22P S22P

54F—
;i

K3

B 1.
HRETEL -
ICTREhEd

M5X16I/[s %>/ 3K
%?R{ M6X 1645M/)s % (D=10) 3K
#6x3045 M4y E> %Y 15 (D=10) 3 &K
RA—H—% SRS
} 1) ra
NEWSTAR P-82 |[HEY3 4%
P-182 |HEI3 4 7%

ERff &,

HIRETEL—IL

ICTRIhET

“am
i
[\
hr

B4,
HRETRLY -V

ICTRENhET

mIC Al i%é‘){ mgilgﬁﬂﬂé/ D=10) ji
g6x304FM4vE> Y 1% (D=10) 4 &
F4F—
AE @ A—H—% BEaRRE
NHN 52SP. 152SP




BRI Bl A e
IREAAKRIHR Rit7HEBAE S

ERLTTEL,
@ A— P EETTAER A—P— EETIAER

- - - 1 n'y
NEWASTAR P-82 P-182 NEWASTAR P-82 IHEY3 571

RYOBI 82P.1820P P-182 |HE!3 4 )%
MIWA M802P.“M802PS

TM5X12 hIRNERY
M6x12 FIRNRY
| #6X30 FFRAVE RV
CM5X12 %Y
M6Xx12 /gy
L g6x30 FM2vE 2y

A—=h—%  DETHERE
RYOBI 22P
S22P

CM5X12 IVp kY
MEX12 4FMpgy
| #6X30 F2vE> 2y

T M5X12 hZRpERY
MEX12 h7Rp2Y
| #6X30 hFREYEL R

A=N—% | BETHER
52SP
152SP

CM5x12 M/h Y
M6Xx12 /gy
L g6X30 FMavEL RV

T M5X12 FIRINRY
M6X12 hFRp2Y
| #6X30 bIRAVE Y




